ATMS REVIEW

Simplify —|8-12|+|-3]

ay ~17 b -1
¢y 7 dy |1

L

2. What is 000078 wwriffen in scientific notation?

3., The algorithm below is a step-by-step geometric
procedure.

I. Addthe Istx-coordinate value to the 2nd
x~¢oordinate value and divide by two.

11, Add the 1st y-coordinate value to the 2nd
y-coordinate value and divide by two.

©TIL Write your answers from step I and step L asab
ordered pair. .

Which of the folIowiné does the algorithm best répresent?

a) Calculating the slope of a line,

b} Calenlating the y-intercept of a graph.

¢) Calculating the length of a line segment,

d) Caleulating the midpoint of a line segment,

a) 78 x 10° )78 x 107 B
£) 7.8 x 10° dy7.8x 107
4, Which ofthe following s the graph of
=§~x—1?

a) ¥ b) ¥

B 5 inreunr
io y

c) R d) I

: : ipanast B

5. Which of the following Is the best estimate of \/55 ?

6. Find the algebraic expression that represents the sum

a) 4 b) 4.5 of 12 and five times a munber,
O 5 dy 5.5 .
a) 12+3n by §(12+n)
c) 12-5n d) (12+35)n
7. 'What s the slope of the line showm? 8. Simplify (x-2)(x+9)
i~ .3
. a) x*—18 b) %* ~11x~11
TSR ¢) %+ Tx—~18 d) 2 ~Tx+18
: |
a) —4 by -2
1 i
¢} = d) ——
) 2 ) 2
0. Simplify Gm'n)(Smn’) 10, Simplify N49a*b%c*
ay 15m’n® B) 8n’n® a) Tabe by Ta*be’
¢) 8m*n’ dy 15sm*n’* ¢) Tab'e d) 1a°b'c’




11. Solver 3(6x-7)=6x~30

12, ‘What is the value of flie expression below?

2 L[ ]
12 3 _
8) 54 b) 9 -
3 )0 d) -108
-2 dy &
4 : 51
13. Which of these statements s true about the graphs 14. SolveY=prt for p.
of the equations below?

I Ir
y=3x+4 ap= by p=—
3y=9x- 12 f

¢) p= -{E
a) The lines coincide P=7 d) p=DIt

b) The lines are parallel
¢) The lines are perpendicular ;
d) The lines intersect, but are not perpendicular

15. ‘Which of these equations represents a lins iaassing

through ( 3, 2) and (-6, -4) 7
3 2
e b T
ayy 2x )2 3x
£} y=3x d) y=2x

16. 'What is the length of the }ine segment that has
endpoints at (-1, 1)and (2,3 )?

ayJ5 b) V13
c) /65 d) 5

17, Which of these arguments js valid?

a) Figare ABCD is a rectangle, or figure ABCD is not

arectangle. Therefore, figure ABCD s a trapezoid.

b} All freshman take Algebral. John js taking algebra
L. Therefore, John is a freshmap,

¢) Alirectangles are parallelograms. Figure ABCD is
a parallelopram. Therefore, figure ABCD isa
rectangle.

d) The teacher said students could not receive an A in
the class unless they got an A on the final exam.
Ashley received an A in the class. Therefore,
Ashley got an A on the final exam.

18 . The statements below are out of order,
1. Ifafigure is a square, then it is a rhombus,

2. Ifa figure is a paraliclogram, thenitis a
quadrilateral.

3. Ifa figure is a quadrilateral, then it is a polygon.
4, Ifa figure Is a rhombus, then it is a paralfelogram.

Which of the following lists the statements in the
correct logical order?

~

D 2,4,3,1
¢) 3,2, 1,4




19. A ladder is leaning apainst the side ofa building, The

ladder is 5 feet away from the building and touches the

building af a point 12 feet from the base. How long is
the ladder?

-

B B

HE
a) 169 feet b) 13 feet
c) I2 feet A d) 10 feet

20, Which of the following is an example of theuse of a

census?

a) All the students at XYZ High School are agked

whether they ride the bus to.school.

PR

b) All the Juniors in 2 government class are asked their

opinion about changing the school mascot.

¢) All the seniors are asked if they like ealculus class.

d) All the girls in an algebra clase are agked to
participate in a survey,

21. The length of a box is 16 cm, the width is 10 cm, and the

height is 6 ¢in. What is the volume of the box?

a) 76 e’ . by 24en’
¢) 960 e’ - d) 632 cnr’

22, Which of the following as a secant of circle O?
a) 4B b) EG

c)'éTE" d) CD

23,

‘Which of the following is true about the given set
of data?

580,75, 80, 60,90

a) median is 75
b) meanjs 79

o) mode.is 30

d} the range is20

24. Which graph represents a finction?

a)* F# b){;

c}

25.7 .

ek Co e longHe iyt
Hued sids ofy cdviangte % muff@
otlen 2 51804 aan. 3 cd B,

o) O<x<ie g 24dx<¢
by Xx=4 & 2sxag

: 26 }\t Norwood High School, a student Js assigned to a

S 'gym class based on the following information.

Days: M, W,or F
Sessions: Moring, Noon, or Afternoon
Places: Gym Aor Gym B

How many different outgomes for choosing a gym
class are there?

VoL b) 15

o) 18 dy 25




27, Inthe equation below, what is the valne of y when
=29

y =63 +12x43

a) 3 b) 123
) -171 d) - 45

28. The graph depicts a real-world situation. Which of the
following situations could it depict?

Tk

Helght
-2
V.
¥

a) A person dove info the water.

b) A person jumped from a tree to the grass below.
¢) A plane landed safely.

d) A plane crashed Into the driveway.

29. Lincoln High School is considering adding co-ed
soccer to the sports program for the fall season. In
order fo get an unbiased sample of inierest in socoer,
the schoo] shouid survey which group below?

a) all the girls in dance clags

b) the varsity football team

¢) all students who weyre elecfed this year to the
student comnckl

d) every 3rd student enfering second perfod class,

30. Which of these graphs correctly represents the graph of

2
z2—x—27
¥ 3x

b) [

-----
-----

A\\\\. -
..... g{s&&
NN
i

d)

2

/5

31, Which theorem can be nsed to prove the trangles in the

figure below are congrent?

B .D

A “ B LS G(
a) S88 b) SAS
&) ASA d) AAS

32, Which of the following transformations produces a
fipure similar but not congruent fo the original one?

2) A transformation that adds 2 to the x-coordinate
and subtracts 2 from the y-coordinate of tho
vertices of a triangle,

b) A transformation that adds 2 fo the x-coordinate
aid multiplies by 2 the y-coordinate of the
vertices of a iriangle.

¢) A transformation that multiplies by 2 the x and
y coordinates of the vertices of a triangle.

d) A fransformation that adds 2 fo the x-coordinate
and divides by 2 the y-coordinate of the vertices
of a triangle.




33, Aaronused the Pythagorean theorein fo find the helght

of a tree. He calculated that the tres was v 225 feet
tall. Which of the following shonld be used to wrie the
height of the tree?
a) £15 feef
¢) 15 feet

b) —15 feet
d) 15% feet

34, A cube mumbered | through 6 is fossed once. ‘What
is the probability that a number less than 4 shows on

the top face of the cubs?
2
ayl b) 3
1 i
€) — d) —
) 2 ) 3

35. 'Which type of transformation is represented by the
figures in the graph?

Ay

A
av

a) reflection and transiation  b) reflection
¢} rotation d) dilation and rotation

36. What is the domain of the graphed relation?

it

B o

1T
£

1
"
|\
1
&
N

-

»l
- e —

a) —25y=<6
b) —25xs5

b) -2<x56
d) ~25£y<5

37. Solve: 5 -Tx=-4(2x-3)

a) 7 b) -8
) 13 d) 17

38, A treecastsa 16 fi shadow at the same time of day
that a3 ft verfical stick casts a 2 ft shadow. How tall
is the free?

a) 21 & by 12
o) 2 Q2R

- 39.

.

Find the shorfest route from Wt Vemon to Aurora,

&) 73 kyba Qg 8)S8

40. An architect Is requiring the pitch of a roofto be
at least ‘7 on 10 on a new hiouss he is building, as
~ shown in the figure below.

o

-

10

Which, of the following roofs js nof steep enpugh?

a) A roof withapitchofSon7.
b) A roof with a piteh of 14 on 15,
&) A roofwith & pitch of 3 on 5,

d} A roofwitha pitchof 7on 9.




41, Which of the following graphs represents a reflection
of the figure abont the line x = -17

be A e
sy ¥,
A 1S i1
b h A
'Y c \ y:
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42. Which of the following lines passes throngh the points in

the table?
X1y
0 |4
210
3 {2

43. Which of the follovring js equivalent to the expression
322 -4y) +4x+ 6y 2

a) 10x+2y
¢} 10x+ 18y

b} 9x-~ 18y
d) 10x -6y

44, Which of these is the correct equation for the line that
crosses the X~ axis at (2, 0) and the y-axis at (0, 6 )7

a) y=3x-6
¢) y=-3x+6

by y=2x-4
d) y=.2x+35

45,

In the accompanying diagram, parallel lines AR
and intersect transversal at points B
and F, respectively. If m/ ARG = 4o — 15 and
m{ CFB =2z 47, find the valne of .

@
A::@zj%'a » B
C < CeANF 5
&) 11 7y
o) -4 d) 3.7

46, Ifan angle’s measure Js between 0° and 90°’, then it is
an acufe angle. Jenny measured the angle made be two
walls in her home and found the angle to be 34°. Which
of the following conclusions is most reasonable?

a} Jenny needs to measure another angle,
b) The anglo is a right angle,
¢} The angle is an obtuse angle.

d) ‘The angle js an acute angle,

47. Which of these sould NOT be classified a5 the number
’ of animals at the zoo?

a) Rational pumber
¢) Whole numbers

by Integers
d) Irrational mumbers

48. Which of the following sets of munbers is not infinite?

a) {nafural numbersless than 8}
b) {odd integers less than8}

¢) {rational numbers less than8}
d) {real numbersless than8}




49, Find the values of x for which the inequality is irue.

Simplify 4x(x*—4xy +6y")

4 3 50,
3x4+—-<—2x——
5 5
3 2 2
a) 4%’ —4x"y+24xy
=7 b) x < ,i?_ 3 2 2 .
a) xSES— =75 B) 4x’ ~16x"y—-24xy~ -
1 . 1 &) 4% —~16xy+24xy”
— L omn .
'_c) xS 5 dyxs 5 d) 4%’ ~16x7y+24xy°
51, Jamal calculated that it costs $0.35 per imile and $4.25 52, How many different ways can six different plants be
per day 1o operate bis car. If Jamal drives i miles over arranged side by side on a shelf?
d days, which equation below expresses the cost, C, of
driving the car, in terms of ## and #7 a) 720 b) 6
a) C=$425d+8§0.35m  b) C=$0.354+§425m c) 36 d) 5,040
c) C=§3.504+§4.25m dy C=$4.25d+ $3.50m
r+5 x—1 54, What is the rule to determine the next ferm in the,
Solve: . = following sequence?
53 7 10 13 . 19
PR
1 .
a) 1-5 b 3 @) Add the previoustwolerms.
P 3
1 b) Multiply the lasi term by —~—.
¢) 3~ 4
4 d) 7 3
‘ ¢) Add - i thelast tern,
dy Multiplythe previous twoferms.
55, Blght friends went out fo dinner together before prom. 56. Draw a box-and-whisker plot for the set of data
The restanrant adds a gratuity (£ip) of 15 % to the total 9,10, 12, 14, 21, 23,25, 31, 34, 43, 45.
for groups of 8 or more. The cost of the meals was
$270.40, including fox. Which amount is closest to " 1 23
the total cost of dinner, including the grafuity, a) s o z
g 3 45 !
a) $325 by $311 14 32 '
¢) $284- d) $4i b}  e—% i —§—o !
9 3 45 :
12 34 !
c) 4 ¢ $—
] %
21 84 :
d} s o i——
9 P33 45
58. Under which transformation will the image be a

57. Mait drove for 4 hours from his home to his friend’s
house, He averaged between 65 and 85 wailes per hour.
Which of the following is a reasonable total distance that
he drove on this frip?

b) 260

a) 300
d) 360

¢) 340

. different size than the original figure?

b) translation

a) reflection
d) dilation

¢} rofation




59. Which of the following linear equations js dexived from

the table of values below?
X y
-3 8
0 4
3 0
-3 3
a) y=-—-Zx43 P
)y red by 4x‘
4 4
S d) y=——x—4
c)y 5* )Y 3>

60. Each of the events below is performed randomly,
Which includes a dependent event?

a) A card ls drawn from: a deck of playing cards,
replaced in the deck, and a second card Is dravm
from the deck. - ¢

b} A spinner with 8 congruent sectors is spup, the
pmber is marked, and the spinner is spua again,

¢} A fair coin is flipped, the side it landed on is marked,
and the coin is flipped again,

@) Twenty differently numbered tiles are put info a bag.
Ore tile is drawn, the number }s marked, the tile jis
set aside, and a second tile is drawn,

{.

61, Mis. Herrera starfed a sequence of numbers by adding
the first thyee ferms to get the fourth term, Fer first

three terms were 3, 5, and 8, which gave 16 as the fourth

ferm. To gef each new term she added the three
preceding terms, The fitst 5 terros of her sequence are
below, '

3,5,8,16,29,
What would be the 7th term in the sequence?

a) 45
¢) 98

b) 53
dy 106

62, What are the coordinates of B when the wiangle js

franslated 4 units left and 3 vnits down?
} el

P S . rebmdrolad

) T3 T
-J.Qq RN A NN
; G
L u A "»‘r
a) (4,5) b) (9, 5)
o) (4,2) 4 (0,2)

63. % points AB, and C lie on ¢iicle Q below, in which

BC i3 a-diameter. N

Lo,
NV

A

In eircle Q, what is the measure of £ CAB?

64, What is the surface area of the triangnlar prism
represented below in square inches?

. a) 120 sq, in. b) 108 sq. in.
&) 360 b) 180° ¢) 96 sq, in, d) 48 sq. in,
&) $0° dy 60°
g5, Solve /x+9 =4 s Solve [x+3]=8
&) -7 b) -5 8) -6, -1 b) 5, - 11 (
) 5 dy 7 c) 6,-1 d) 6, 1




67. Find the area of the ﬂgu're.

2
B
3
2
a) 18 sq, units b) 22 sq. units
o) 36 sq. vaits d) 17 sq. units

68. Points A, B, and Care on circle P.
‘A

What is the m ACB?
2) 280° by 220°
¢) 160° dy 80°

6%9. The area of a sector of the circle with an are measure of
30° and with radius of 6 Is

TN\

ay 3
c)12x»

b)Y Oxr
)3

70. Determine the length of side x in the diagram.

B3

Ay d) 33

71. Find the value of y in the system of equations.

2. PIDAM is a regular square pyramid withf £ =&and
YR =6, Find the slant helght PR,

a) 10 b) S
c) 14 & 2

;
!

Ix+y=35
3x-y=5
a) | by 3
¢} S dy 2
73. Find the sum of the meas'l,lres of the interior angles of
a hexagon? )
c
a) 180° b) 360°
¢y 540° dy 720°

74, Which sentence illustrates the assoclative property for
addition?

a) (a+b)+ec=at{b+c)
by a(b+ec)=ab-tac
¢)atld~a

d) at+b=b+a

75, Which statement is the contrapositive of the followlng
statement: “If you study hard, then you will pass the
test.”

a) If you passed the iesi, then you studied hard.
b) If you don’t study hard, then you will not pass
the test,
¢) If you did not pass the test, then you did not study
hard, .
. d) none of these

76. To find the tofal number of ways a committee of three
can be chosen from a group of five people you would
use:

b) acombination
d) Pythagorean theorem

a) a permutation
¢) the quadratic formula




77, Which one of the following could be the graph of
p=x"—47

a) b 4

78, |

yae? 3 amap=|t 2 (
i VR 134
Find 24- B

5 8 NEE
s s 5 6]

3 8 3 -8
e TR Dl -2

79. What is the sum of the solutious for the quadratic
equation below? CF‘ad-oa

x4 dx—12=0
a) 13 b) 8
¢) -1 d) -4

80. Which of the following represents a correct procedure
for solving each given equation?

a) 2x-5)=-12 b) 8(x-5)=24
2%x-10=-12 8x-40=24
"2 =-2 8x=x16
x=1 : x=-Z

¢) 5-2%=8x+25 d) Tx-i2=-2%+15

=10z +25 Ok~ 12=15
30=10x 9x=21
3=x x=3

81. A3 X 5 Inch photograph is enfarged so that each side
is doubled. What happens to the original area?

a) The area is 8 times as greatf.

b) The area s 4 times as great,

¢) The area is doubled.

d) The area will remaln the same,

82, Which equation can bs used to find the value of X in

the right triangle shown?
a) co820° = = ,
12 L b
b) sin20° = 22 - o~
z 13

c) cos20°= 22
&

d) cos70° = =z
12




83, The graph below shows the resulis of investing $100
per month in accounts with two different rates of refurn,
Based on this information, which statement below is

frue?

% ¥vs, 10% AATE OF RETURH . .

800
500 1o
. 400 [r oo o] e}
§
2 360 — “
(=]
200 ] H
186 ?ﬁ |
oF

b & 10 15 20 25 3D 36 40
Yenra

a) Tavesting $100 por month in an account that pays
10 % rather than 8 % will not make any difference
until after 25 years.

b) A larger rate of retumn causes the account to grow
rvapidly at first but then the growth rate slows,

¢} A small inorease in the rate of retum makes a
significant difference in the growth of the account
over 40 years,

d) If the graph was to continue to 100 years, the § % lins
would catch up 1o the 10 % line,

84, “What is the relatiopship befween average test scores and
days absent from school shown in the plot below?

¢ &
. s ! .‘" -
", Test Scores Versus Days Absent '
. SRS Adsent
THE gh bame g [P : afs o o . ot
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ol .C_ Tbere.isan:gaﬁvr.eonefatjorg between fest scores and days abser
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85, Which net below best represents the followiug object?

P,

I:j_L?IJ

out here

Lo

.......

e

t_..‘._D

cuf hera

An additional practice aims test s available on the Arizona department of education website,







